The non-abrasive surface
provides superior grip under any condlitions.

4"Kickrails provide a safe
and secure working platform

FormaTred Scaffold

FORMETCO

December 2006 Scaffold Instructions 1

Excellence is our standard.



Formetco Forma-Tred Scaffold

* 16 GA Galvanized Steel designed for years of service

* Meets or exceeds OSHA Outdoor Industry requirements

* Kits available for all standard poster and bulletin billboard structures

e All direction uniform pattern provides an outstanding surface grip under
any weather conditions

* Surface designed to be non-abrasive without sacrificing grip

e 4” Kickrails provide a safe, secure working platform

e Hardware for wood pole structures.

Table of Contents
Forma-Tred Scaffold - == - - == = - == o m s o e e e e e e e e m - 223 - 4
Forma-Tred Scaffold Assembly - -----—----uccwncv----5-6
Forma-Tred Scaffold Kits Parts List - - - == - = == == = - o e oo e - = 27
Scaffold Support Hardware-- - - == - - == = = == = o o e oo e oo - -8
Forma-Tred Scaffold Support Plates- - - - - = - === = = - = = - - - - - -9
Forma-Tred Scaffold Wood Pole Hardware- - - - - - - - - -~ - - 10-11
Conduit Support Brackets -- - - === - e - mem e e e a2 2 ]2
QuickChangeTM Ad-Vue Conduit Support Bracket - - - - - - -- - - 13
Forma-Tred Walkaround Scaffold Assembly- - -- - - = - = = - = —— - - 14
Walkaround Handrail Assembly - - - == = = == = = om o oo oo - - 15-16
Forma-Tred Scaffold Typical Bolt Spacing-- - - - - - - ------ 17 -18
Walkaround Scaffold Typical Bolt Spacing - ---------------- 19
FORMETCO

2 Scaffold Instructions December 2006

Excellence is our standard.



Forma-Tred Scaffold

16 gauge Forma-Tred Scaffold

The Forma-Tred 12” Scaffold is designed for poster panels or bulletins, for front and rear scaf-
folds. Each piece of the 16 gauge Forma-Tred 12” Scaffold is 12” wide x 2 1/2” high and 24’ in
length. Special lengths available. The legs interlock for added strength.

Forma-Tred 12” Scaffold
bolts together using
3/8” x 1” GRS Bolts/
Flange Nuts allowing
you to add sections

to meet your required
length and to complete-
ly recover the scaffold
should you need to

take down or move the
structure. Single lengths
can be used within

the structure for ro-
tary crews and flexible
vinyl crews to stand on
while changing out the
sections or vinyls. 4”
Kickrails are required by OSHA.

Scaffold Splice Plates
Use Formetco Scaffold Splice Plates to connect Forma-Tred Scaffold end-to-end.

Forma-Tred
Scaffold Splice Plates

Forma-Tred
Scaffold Splice Plates

FORMETCO

December 2006 Scaffold Instructions 3

Excellence is our standard.



Forma-Tred Scaffold

The Formetco Forma-Tred Scaffold is designed to meet or exceed the OSHA requirements with
4” Kickrails on all sides. Formetco Forma-Tred Scaffold is available in widths of 20”, 24”, 30” and
36" and lengths of 24’ to 80’. Formetco Forma-Tred Scaffold can be ordered with Walkarounds
and Walkarounds with Handrails.

The 16 gauge Formetco Forma-Tred Scaffold has interlocking legs for added strength. The surface
is nonskid and designed to prevent wear on the worker’s shoes, prevent tears in the worker’s
clothing or cuts on the worker’s hands or knees when they are in a kneeling position working
on lights or attaching flexible vinyls.

Scatfold is sold in kits, all the components come automatically according to the size you order.
The Hook Bolts and “J” Clips or “VJ” Clips, see Page 8, to secure the Scaffold set to your scaffold
supports are not included.

Formetco Forma-Tred Scaffold
4” Kickrails all 4 sides

Kickrail
Splice Plate

Extended Kickrail
for Walkaround

Formetco Forma-Tred Walkaround Scaffold
with 4” Kickrails per OSHA requirements

FORMETCO

4 Scaffold Instructions December 2006

Excellence is our standard.



Forma-Tred Scaffold

Choose area where you can
set up several sawhorses or

-
=
=
-
=
-

. Double _’_,.-»-—’" =
stands on which you can Male —— =
assemble the Forma-Tred Leg P === —_—

=0
e 3 o o o
. - o _2. =3 2 >0 =c >
Pt 0T 0 O 0 o,

o o o o
oooooooo

Scaffold. Have two setups =
when doing Forma-Tred =
Scaffold over 24’ in length so
both sides can be assembled
and then butted together to Double Doubl
connect with Splice Plates. Male Male

You can wait and butt Leg Leg
together on site and then lift

in place on the structure.

Place a Double Male

(D/M) Section of the

Forma-Tred Scaffold on stands or sawhorses. Interlock one or two regular, male/female type
sections together with the double male section. Make sure that the ends are even, bolt ends
together. Only hand tighten the ends at this time.

—0 =0 = =
o > © o =
o O o >

o O ° =

3 o
o o 25 o 2 o 2
S © = o

>
==

o 2 o 2
o o
o ©
o 3
o
ooooo
e

—o

o
o

Start at the center of the Scaffold length, using 3/8”x1” Bolts/Nuts/Washers to secure the
interlocked Scaffold sections together every 24”. If the Forma-Tred Scaffold is more than 24’ in
length, assemble the second set in the same method.

When both sets are assembled, butt the two sets end-to-end. Now you are ready to attach the
Scaffold Splice Plates. Place one
Scaffold Splice Plate on each side of
each of the interlocking legs.

Note: Do NOT attach Scatfold
Splice Plates to the outside legs at
this time.

Scaffold
They will be attached along with Splice Plates

the Kickrail Splice Plates. Attach %

the Scaffold Splice Plates with 4

- 3/8”)(1” Bolts/Nuts/Washel‘S. LWFJ+FL‘MJ=E‘1‘]J
Now you are ready to attach the
Kickrails.

FORMETCO

December 2006 Scaffold Instructions 35

Excellence is our standard.



Forma-Tred Scaffold

Secure the Kickrails to each set on both sides with 3/8”x1” Bolts/Nuts/Washers, typically every
36", in the pre-punched holes in the Kickrails. Do not install a bolt/nut/washer at the ends at
this time.

Scaffold
Splice Plate

Center a Kickrail
Splice Plate across
the butt joint. Using
3/8”x1” Bolts/Nuts/
Washers secure to

= <Kickrail Splice Plate

FS Scaffold with a FS
Splice Plate on the
inside of the outside g Sl?affgidt . Sﬁeciifg%gte Scaffold
1ce late i
legs. . ' - p &5 p e /Sphce Plate\
Kickrail e o) Kickrail
s
~ ~
Kickrail

Install the Kickrail End Plates by inserting 2” “V” Bolts through the end holes of the Kickrail on
each side at the ends of the FS Scaffold. Place the Kickrail End Plate holes over the “V” Bolt. The
Kickrail End Plate fits between the side Kickrails with the top flange overlapping. Attach a wash-
er and nut on each “V” Bolt and tighten. On each side install screws through the top flange of
the End Plate through the Kickrail flange securing the End Plate to the Kickrail flanges.

Important: Do NOT leave out any bolt/nut/washer.

4" Hook Bolt/
Flange Nut

Flange Nut
Kickrail
End Plate

FORMETCO

6 Scaffold Instructions December 2006

Excellence is our standard.



Forma-Tred Scaffold

Scaffold Kit Components

The Chart below shows all components that are included in each Scaffold Kit.

slelale e dlxlxlalxlalale|es|alx|x|a
N |d ] |[F|F|F|FlO|a A ||| F || |F|O
. > > > > > > > o > > o > > o > > o >
Scatfold Kits MR R R R R R R R R R I R R R
24" and 36" widths SN U QUSSR ISR QUM [SURY QUSRI JSUN RSBl el IRl el O BT e el )
(Other sizes available) 4 lolale lolalg lololvslolalololals oo
N | @[] |[F|FF Tl |@ ||| F || |F]|O
ol R R R R R R EE R el Il e e el Il B
<+ ||| || FJo|o|lo]lo]lo|o]|o o]
g |l (]l | ald a0 |Q |a]loxn
I I8 I8 I |8 I8 [l |X|8 |8
MM MMM MMM MMM XXX
= = lE = === E === ===
~ = ~ ~ = ~ ~ = ~ ~ = B~ B~ = F~ F~ = F~
bl ol ol o ol ol ol o ol (ol ol s ol ol (ol (ol I ol ol ol s
Q1O Q10 |O |OOQO O QIO |[O]1O]|Q|O O |0 |QO]O
w 2] w w 2] w w 2] w w 2] w w 2] w w 2] w
* x * * * * * * * * x * * * * * * *
Component Description | Qty|Qty| Qty[ Qty [Qty |Qty] Qty|Qty|Qty]Qty|Qty|Qty [Qty|Qty |Qty |Qty [Qty|Qty
16 GA 12” D/M Scaffold 12’ 1 1 1 1 1 1
16 GA 12" Scaffold 12’ 1 1 1 2 2 2
16 GA 12” D/M Scaffold 16’ 2 1* 2 1*
16 GA 12” Scaffold 16’ 2 1* 4 2%
16 GA 12” D/M Scaftfold 18’ 1 1
16 GA 12” Scaffold 18’ 1 1 2 2
16 GA 12” D/M Scaffold 20’ 2 1 1
16 GA 12” Scaffold 20’ 2 1 2
16 GA 12” D/M Scaffold 24’ 1 1 |11 1 2 1 (1] 1|1
16 GA 12” Scaffold 24’ 1 1 |1* 1 212 2| 2* 2
2 1/2” Scaffold Splice Plates 41 4| 414 |4]| 4 8 616|616 6 12
14 GA Kickrail 12’ 2 2 2 2 2 2
14 GA Kickrail 16’
14 GA Kickrail 18’ 4 4
14 GA Kickrail 20’ 4 2 4 2
14 GA Kickrail 24’ 2 2 21 214 14] 2 2 212144
14 GA End Kickrail 20”
14 GA End Kickrail 24” 212121212121 2|2]|2]2
14 GA End Kickrail 30”
14 GA End Kickrail 36” 2212121212
Kickrail Splice Plate 527 2T 2121272121214 21212121212
3/8” DIA x 1” GRS Bolt/Fl Nut
2"x3/8"DIAHookBolt/FINut| 4 | 4| 4| 4 |4 | 4] 4|4 |4 4|44 44|44 ]|4]4
* Optional Package depending on inventory.

FORMETCO

December 2006 Scaffold Instructions 7

Excellence is our standard.



Forma-Tred Scaffold

Scaffold Support Hardware

Below is a chart showing hardware needed to attach Forma-Tred Scaffold to 4” Channel and

Angle Iron Supports.

Forma-Tred Scaffold w/Kickrail

with C4 x 5.4 Channel Supports

Forma-Tred Scaffold w/ Kickrail

Forma-Tred Scaffold

w/ Kickrail
o o o LI-II
” 6” Hook Bolt
6/F1Hook £ O}[t 4" x5.41b /Flange Nut
anee T Channel 47x5.41b
Channel
—2" ] Cli
P =~2"] Clp
Formetred Scaffold
Back Scaffold no Kickrails
| o o N o o o |
7” Hook Bolt 4" x 5.4 1b
/Flange Nut Channel
~2” ] Clip

Forma-Tred Scaffold w/Kickrail
with Angel Iron Supports

Forma-Tred Scaffold w/ Kickrail

Forma-Tred Scaffold w/ Kickrail

o " o o o
Hook Bolt Angle Iron 3” Hook Bolt Angle Iron
/Flange Nut Supports /Flange Nut Supports
“VJ”-Clip “VJ”-Clip
How to Order How to Order
Angle “J"-Clip Hook Bolt Angle “V]”-Clip | Hook Bolt
Length Length Length Length Length Length
21/2” 21/2” 5" 21/2” 21/2” 3"
3" 3" S 3" 3" 3"
31/2” 31/2” 6" 31/2” 31/2” 3"
4" 4" 6" 4" 4" 3"
FORMETCO

8 Scaffold Instructions

OUTDOOR

Excellence is our standard.

December 2006



Forma-Tred Scaffold Support Plates

Scaffold Support Plate

Formetco Scaffold Support Plate, made of 1/4” steel plate, can be welded
or bolted to each side of the [-beam upright. A 4” - 5.4 1b Channel Iron is
inserted through the slots for supporting Forma-Tred Scaffold. The 4” - 5.4
Ib Channel Iron can be used to support the Forma-Tred Scaffold on one
side or for a back to back structure.

Scaffold
Support Plate

When the channel
iron is in position,
tighten the attached bolts on the Support

Channel to secure the channel iron in place.

Slide 4” Channel through
the Scaffold Support plates
and secure by tightening
the bolts. Bolt or Weld
Scaffold Support Plate
to I-beams

Place the Forma-Tred Scaffolds on the channel
irons and using 2” “J” Clips and the proper Hook
Bolt/Nut secure the Forma-Tred Scaffold to the

channel iron. 4” - 5.4 Ib Channel

Secure Forma-Tred Scaffold
to 4” Channel with 2” “J” Clips
and 7” Hool Bolts/Flange Nuts

Scaffold Support “C” Bracket j S

The Scaffold Support “C” Bracket can be welded or bolted to the uprights.
Slide a 4” - 5.4 1b. Channel through the slots to support Forma-Tred
Scaffolds. It can be used for single face, rear walks or back-to-back
scaffolds. Secure the channel iron by tightening one top bolt, then the

opposite bottom bolt, top bolt above and then last bottom bolt. Scaffold Support

“C” Bracket

FORMETCO

December 2006 Scaffold Instructions 9

Excellence is our standard.



Forma-Tred Scaffold Support Assembly

Scaffold Support Assembly

Formetco Scaffold Support Assembly is a “C” Support Bracket welded to a 30” - 4” 5.2 b
Channel Iron. The Scaffold Support Assembly includes the “C” Assembly, one (1) 3/4"x36”
Threaded Rods with four (4) nuts/washers, two (2) 4” - 5.4 1b. x 4” Back Channel Washers, all
Bolts/Nuts/Washers needed and with or without the 4” 5.4 Ib Channel Scaffold Supports.

Mounting Scaffold Support Assembly

Using a string level, locate on each wood pole the top of the “C” Assembly. Place the “C”
Assembly on each pole and mark the hole locations for threaded rods. Drill two 13/16” holes in
each pole for the “C” Assembly threaded rods. Insert threaded rods through the holes and “C”
Assembly. Place a washer and nut on the rods. Place a 4” x 4” Channel Back on the opposite
side of the pole along with nut/washer and tighten. Insert 4” 5.4 Ib Channels through slots and
secure. 3/4” Nuts & Washers

< 7
=
@
1 =
e kT
/ e 4” Channel Washer
. @
Run a string level or laser where you want = .
the Scaffold. Place a nail in each wool pole § d
and run a string from one end to the other. =
. Iy
i
*
X
o
Scaffold Support Assembly Kit
_ — — ) J/\
Align this -
corner on 4 | g [—=—"-
string. Make sure ,

\ ° Assembly
is level
I
©

g |-

ey D
° i == ’}
~———" \ — ~— i 7\_/‘
Drill two 13/16" holes Place the Scaffold Assembly
lz)lzc:vg(c)szogtlde/;;scellgzlg through the wood pole. on the threaded rods. Place
ilot holes f(?r threaded rods Cut 2 -3/4” threaded rods a washer and nut on each rod.
P ’ 5” longer than the pole Tighten nut until end os rod is
is across and drive flush with nut. Place a 4” Channel
through the holes Washer on threaded rods. Tighten

nuts. Cut off excess rods.

FORMETCO
December 2006

Excellence is our standard.

10 Scaffold Instructions



Forma-Tred Scaffold Support Assembly

Front Scaffold Assembly

Wood pole structure

4” mim )
Single Face Scaffold Support | 127
Assembly Kit for 247 or 36" wide Important:| Snug top bolt
WOOd POle Forma-Tred Tighten - this side
Structure. Scaffold top bolt
this Sld{ With C4 Channel in place,
L 1 - channel hole should match
66" - C4 x 5.4 1b Channel ¢t~ Tab hole in Scaffold Support
A — Assembly. Secure with a
Snug bottom bolt 3/8” Bolt/Flange Nut
this side
o Important:
T Tighten
bottom bolt
this side
Back-to-Back Scaffold
for Wood Pole Structures
4 o~ Back-to-Back Scaffold
o Hole in C4 - 5.4 b Channel .
Minimyum . Snug  should align with hole in Support Assembly Kit for
| Top Bolt Scaffold Assembly Tab. Wood Pole Structure.
24” or 36” Tlghten T this side Secure with a
Forma-Tred Top Bolt 3/8” Bolt/Flange Nut
Scaffold this side
I I first. = I I
| 10’ - C4- 5.4 1b Channel ] E/ |
Snug | \T ht
Bottom Bolt yghren
his sid o Bottom Bolt
this side T this side
first.
Rear Scaffold Support Bracket Kit
for Wood Pole Structures
2
4 s
Rear Scaffold Support TIN5 g
Assembly Kit for 3 Secure Channel to
Wood Pole Forma-Tred Tab on Scaffold Support
Scaffold Assembly with
Structure. 3/8” Bolt/Flange Nut

|
40” - C4x5.4 Channel]

A

FORMETCO

December 2006 Scaffold Instructions 11

Excellence is our standard.



Conduit Support Brackets

Forma-Tred Conduit Support Brackets

Formetco Forma-Tred Conduit Support Brackets Conduit Support Bracket
mount to the Forma-Tred Scaffold by hooking over Forma-Tred Scatfold
the Kickrails and bolting into the scaffold leg for
a secure support for the lighting conduit. The “U” —]
Bolts and nuts work on 1 1/4” round or square /\H
conduit.
N\
Locate the centerline of the lighting fixture 1# Spacer Kickrail
conduit and mark on the top of both Kickrails. 5/16” Bolt/Nut |

Place a Forma-Tred Conduit Support Bracket in
place and drill a 5/16” hole through the Kickrail
and scaffold leg.

\1 Forma-Tred
g Scaffold

4” U-Bolt/
Nuts | (3

Place a 5/16”x1 1/4” bolt through the hole in
the center of the Conduit Support Bracket. Insert
the Spacer over the bolt on the back side. Place
Conduit Support Bracket over the top of the
Kickrail with the end of the bolt through the
drilled hole in the scaffold. Secure with a nut to the scaffold.

1 1/4” Conduit

C

Install the “U” Bolt and attach the two nuts. Do not tighten. Place Conduit Support Brackets
on the Kickrails on both sides of the scaffold. Insert the Formetco pre-wired conduit through
the “U” Bolts. Position the end the proper distance from the face as required by the fixture
manufacturer and tighten the “U” Bolts. Install the light fixtures.

Conduit Support Bracket Formetco Angle Iron Conduit Support
for 4’ & 5” Angle Iron Bracket
Kickrails

Formetco Angle Iron Support Bracket is designed

’\H T‘I] for 3” or 4”/5” angle iron kickrails. Attach the “U”
Bolt to the Conduit Support Bracket and place the

Conduit Support Bracket on the angle iron kickrail.

4” or 5” Slide the Formetco Pre-Wired Conduit (round or
Angle Iron r r your conduit, through the “U” Bolt.
4” U-Bolt/ Kickrail square), ory ! 8

= b Nuts

Position the end of the conduit to the requirements
~ for the fixture and tighten the nuts on the “U”
Bolts. Attach the fixture and connect the wiring.

1 1/4” Conduit

FORMETCO

12 Scaffold Instructions December 2006

Excellence is our standard.



Formetco Forma-Tred Scaffold
Walkaround Assembly

Assembly of the Walkaround

On a 14’ x 48’ Formetco Forma-Tred Scaffold
Walkaround is made up with a 36” x 24’ section
and a 36” x 27’ section length to accept the 36”
Walkaround. The Kickrails are standard 24’ length
plus the Kickrail Extensions and is included in the
Walkaround Kit.

Assemble the sets of 36” x 51’ Forma-Tred Scaffold
Kickrail for each side of
the structure.
Attach a 144”
Kickrail Exten-

Walkaround Scaffold

Kickrails

Kickrail
Extension

sion on the outside of each set. Install End
Caps inside the outside and inside scaffold

Kickrail
Splice Plate

Inside /

Kickrail

Kickrail Extension )
— section om the Walkaround end of each of

the scaffold sets.

Crossover Scaffold Section

To assemble the Crossover Section bolt the three sections
of Scaffold together. Install end caps on both ends of all
three legs. Set the assembled Crossover Set between the
two sets of scaffolds and bolt to each side with six bolts/
flange nuts to the side of the 51’ scaffolds.

Attach the Out-

Kickrail Extension 112"

End
Cap

Install 3 End Caps

both ends of Crossover

__Outside
Kickrail

Kickrail
Extension

5o

End Cap

— o

End

side Crossover Kickrail and the Inside Crossover Kickrail.
Secure the top of the Kickrails where they overlap the

side Kickrails with screws through the flanges. Your scaf-

P o [w Bl [ = [ = Pl w] v b for extra safety.
L.
—— — 1 — HH——t— A
17 107" 147 '10~2J7H2~ 107 t227 2“"]2" 227 1107 2”-'H2"10”' 14" 10" 1 17 /]2”
144"
FORMETCO

-| fold is now complete. Optional Handrails can be added

Inside Crossover Kickrail
(notched)

1‘3/4”

o——

10”

OUTDOOR

14 Scaffold Instructions

Excellence is our standard.

December 2006



Forma-Tred Scaffold Typical Bolt Spacings

36"

1//

«9€

g1 °¥eld 2011dS [renny
:H Al
‘Hl al W9¢ :@M WCC «VC :@M Wl WCl :NﬂVL“\NH W CL W CT W9¢ 4 WCC «9¢ :@M Al Tﬂ.
—_— —— L
INN 98UBLI/A[O] YOOH  saje[q 2011dS Eotmum/ h“_r_n_“_ N 28ueri/ijog Yooy [+
% \.— :*N :wN :wN :wN :wN :“VN :wN m W :wN :wN :wN :wN :wN :wN :wN :H W/M
1|_nnsSueri/atog yoopy  $2¥81d 221dS Plogeds A il N a8uerg/og Yoo~ Il 1
~ ——— T
- aerq 2o11ds renpry/ =
apmo Jureds jjog
1D P[O3JedS paLl-ewlod ,¢¢ X ,,9¢
CEX9CUNAIVOS«
a3e[d 221[dS [rendny
4} \ i
allaT (L
:H :@M :wm :@M :NH \Nﬁ :N.H :NH :N.H :@M :@M :@M :@M :@M :@M , .In
-=wl e = = al —1T .
mN s8uei/110g YOOH % n_ b V s1e1q 291dS DIOFEOS NN a8ue[d/1[0g YOOH — [T
Eqa+4]
A AEAEAREAEA Kk m 1 et | e | e | v | e [ e | uve | wve [uve | e | uve | e
J_ N aduer/310g YOooH “ h&. |w xmw«ma 2011ds progess NN 28ue[i/3[0g YOOH h_ﬁ +
S g —
a1e[q 2o1[dS [renpIy :
aping Surdedg jjog

PIO3Jeds§ pall-eullof 9¢ X ,9¢

9EXICUNLAIVI S«

FORMETCO

OUTDOOR

17

Scaffold Instructions

December 2006

Excellence is our standard.



Forma-Tred Scaffold Typical Bolt Spacings

aje[d 221[dS [renyony

36"

«9€

0T N\
AR r-A8
SR I BRYS £9€ W€ | Tz «9€ ¢ |ztlat|.ct LW CT]uTl Tt W98 £9€ £9€ W9€ b€ .9€ Ot [ -~
ok g = WA
‘_ml.«:Z a3uer]/110g YOOH saeq 2011ds EowmumA %r— & N 28ue[]/Aj0g YooH — |~
% .ﬂli_ =4
i e | uT | T | BT | ube | BT | Wb LT | e m AR ARARAEAdNAaAEARARARArdal &
de N 28ueri/iog Yooy sa3e[d 201[dS plojeds uv Wb N 28uerg/iogq M0OH ||y
T e e -~
— —_
a1e[g 2>11ds :«%Q\ ’
opmy Furdedg 3jog
UﬂOm—%NUW MVQH,HHMEHOW FJr X :@M
PEX9CUAAAIV IS«
saye[q 011dS [renony
¥T /J T
, :ﬁ/ .:ﬂ
s Y o.9g W9€ £9€ £9€ W9€ W9€ St |aetletfet] || Letet]er| .o¢ W9€ W9€ W9€ BE «9€ ot i~
L mrer—t— e —— L
e =
|_I‘=m|l INN 28Ue[1/3[0g JOOH saye[q 2011ds EobmumA ¥ g. ¥ NN a8ueli/3[og YOOH T
I EEE
A e | e | e | e | e | e | e [ uve | e [ure [ v | m% wee | wve | e | e [ ve | e [ v | uve | e | e | e L
nN 28ue og YOO saje[q 2011ds pro. mumA:w b
|_|.ﬁ.\ N [1/310g OOH 1 1dS projy Oy N 28uer/yjog JOoH ~ |_|
saje[d 1S [renpny
apmo Sumpeds jjog
P103}jJeds poll-euwloq 8% X ,,9¢
STXCWIAIVIS«
ve
1 1 1 1 1 1
u «9¢ «W9¢ «9€ «9¢ «9¢ £9€ «9¢ «9€ Al
B —
=T [ Ny o8uer1/110g YooH my a8ueg/Hog YooH ™~ [ =
MO w
«” ul WV u¥C «¥e u¥C WV «¥C WV u¥C «¥C «¥C u¥< «¥C al nyu
N nN 28ue[/1[0g YOO NN d8ue[/3[0g YOO
__\\« N [1/3109 JOOH N /31094 X I/ l_llu.
Sumedg jjog

PI0JJedS PaIL-eWIO] FX9CUNAIVIS«

FORMETCO

OUTDOOR

December 2006

18 Scaffold Instructions

Excellence is our standard.



Forma-Tred Scaffold Walkaround

Typical Bolt Spacings

36"

saje[g 2011dS

UOTSU)XY [TeIIIY

a3e[d 201dS [renydny

¥ T1enD] , | £Cl1
| ! ! 1 ! 1 T ! L ! | ! 11.C ! 1aC 1 ! 4 AN v
0¢ | o8 [ .o [ .o | oe | .0t | .0¢ Jellell.er]] 0% | 20F |29t | ¥C |a¥C | a2 || «OL | 0T || ucl |<ct | OT | .olLlH -~
[ NN P3UELI/08 OO saje[g 20o1ds plojyeds deo pua/ [[5
"=
19T ~
e | a2 |t e |ae [we e | e | ¥2 [ uwe | wve | wee ] wee | e | e | e | wve | e | 2| ae| e | e [ e | e | o8t | 0T F| =
saje[d 221ds plojjeds A ﬁﬂ_ T 3
_—— - - I/./ru
sayerq 2o1ds SN ="
[renny < g
= N
Supeds 3j0g WM M N
punoreNem IS X ,9€ H = 1T
VM/LS X ,9CDIIVOS+ © N
sajefd 2011dg N N
Trenpory i =
g g
= ST T
_—— m.-l -5 1 T T I T 1 1 4 5 I.Il.lluu
sarerd 2d1ds EO:SwA MIEZ atjet] Loe 9€ Ot | .ot «9€ N G _ <
EEsE Supeds [renIy apIsu| -
'S
A= =4 ||u €
sa1ed 2011dS pogFeds A 2 O
sajeld 2011dg ) C
Trenyory —
. UOISUIXY [TeDIIY E
21 LT | LT
1 1 1 1 N 1 . . . . 1 1 1 1 1 < 1 YA ! 1 «C3| 4T
EEE O D _:2_:2_&&; 2L |2l [l | 9€ | «9€ | ¥ | u¥C | «¥C |acC || 9T | 9T || <2t | w2l | u2l || 9T | .91 =
T Th e — -—
NN a8uerg de )
b s O pug—" 2
/30og YooH e JINU L
sl ok I kil 2Rl
W1 WFC P4 &C e P44 «C |,1L1] «CC T T e «¥< V< e e «¥< «¥< e JC| .81 W91 S ——
LI A ] =
L - - — - - —
N a8uelg _n“_:w _Mnu_ deD pud —72~  uTn. =
3104 YooY . pimedon sz «0T E LOLH =vo
=1 i/ ==
FEY TR
N sfleD pyy N
N N
Suroedg jjog : :
[P TTF~
punolry jrem yirm projjeds par-ewioq ,6¢ X ,9¢ T 1
SN S 2
=\t =S
_ _ _ _ —— =,
«9€ «9€ «9€ W9€ W9€ W9€ _ | =
1 R
Sumeds og [reOR] ApIsu] =
mTT=
<
~

OUTDOOR

19

Scaffold Instructions

December 2006

Excellence is our standard.



